163. Which metal will melt on palm of the hand?

(A) Mercury (B) Gold
(C) Gallium . - (D) Silver

2 eremmhieansudle) meaud@GbGuNg o (masan iy 2 Cansh ergl?
A) umsyEd B) smsb
©) srdwn | D) Qeudrafl

164. Which one of the following rocks belongs to Sedimeﬁtary Rock?
(A) Basalt |
(B) Limestone
(©) Marble
(D) Slate

Qasrr@é;asuul'_(b\dTm unenmaefien, u@muunmm.mmammé &IbHS LTEnD 6TG)?
(A) usmel
B) érrai'oTsmrrquu e -
© umﬁtéj@u LITenm
(D) AGwL

165. In the adjoining figure the arcs BD, have A and C as centres. Find the area of shaded portions.

c_._ 14 B

14}
i P ,’I
1 ////,,,‘
pE====y
(A) 82 B 72
C) 42 , - (D) 84
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LFUIL STETS.

Reason (R)

(A) is false, (R) is true

EpSEETL euTSSWtiGmens Souef :

sryenid (R) -

D) A saum. (R) &l

14

. Consider the following statements :

Qar@ssLul_(Herer UL el L elldsar BD-én epwowirisase A wpmid C erafle, Hlpalllc vE@duer -

14
P B 3
Vet i
// L, ‘
/,’//’ p !
’, ’
I_, /
J g
i // ,I’
i s J/
ey
el e
A
B) 72
D) 84

Assertion (A) : There are more female terracotta figurines than those of male in Indus Valley
Civilization. ‘

: Women enjoyed a superior position in the Harappan age.

Both (A) and (R) are true and (R) is the correct explanation for (A)

Both (A) and (R) are true and (R) is not the correct explanation for (A)
(A) is true, (R) is false ‘

Abg) swleuafl prafs &G LTETLhisefa e o (heusms el GuET o (HeumiseT

S ss @{mmgbgjmmm.
apruur sregde Quanser Gubul L Hlaaule &) mbse.
) (A) wpgid R) @renGio &f. Cogid (R) eremug) (A)-69ne sflwimar eflaréstd

B) A) womb R) Gresr@b &l Coaud (R) eranug) (A)—@S@@ sflwirer efleTé s
A) &0, (R) seum |
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167.

168.

169.

- (C) Pakai (D) Nakai

(A)  Saemd (B) samd

“Inam Ennum Eemap Punaiyaich Suduvathu — Ethu”?

(A) Sinam _ (B) Dhanam
“BQlevid eTaanitd GFLoLIL|EETEIEF HHeug)” — 6Tg)?

©) . uems | D) pows

Who is the first grammarian in Sanskrit language?

(A) Vaalmeeki _ (B) Viyaasar
(C) Thandx . (D) Paanini
auL G @edsan A MITeEHET (PSETENDWITETET WITT?

(A)  eumSa _ . (B)  wmsr

(C) ey | D) ureaf

Classify the ‘Ettuthokai, Noolkal’ in number as Akam, Puram and Akapuram
(A) 3:3:2 ' : B) 5:2:1

©) 6:1:1 . (D) 4:_4:0

T (HS Ggnans proaeter cramantlsamaanil ab, LMD, ASULDD eTar euflamsliLihgis.

A 3:3:2 | B) 5:2:1
© 6:1:1 D) 4:4>:0
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170. Read the following statements and choose the correct answer :

1.

A)
B)
(©)
D)

The Neolithic period is followed by Chalcolithic period when Copper and Bronze came to.
be used.

The new technology of smelting metal ore is an important development.

1 and 2 are correct
1is correct and 2 is incorrect
1 and 2 are incorrect

1 1s incorrect and 2 is correct

SP&QaTREslILL{ 2-dreteneusamen Lig &g, sfiwrer eflentenw Cgirey Qauss.

1.

A)
®)

©)
D)

ufu  speresdlve  Gng GQsby sTeb  geaumdwg.  Qebubd,  Gsmeruyb,
2 uCuTsLIL@SsLIUL L L.

HHw Gzmfieé i uiwrer ‘e (HEGD WD~ @ (PHEAW eeTTFEIWLINTE AMDBSHI.
1 oHmbd 2 sflwirer sndoy

1 eflwren sapm OO 2 Seumren snHm

1 wHmib 2 FeupTen sahHmSET

1 seup e gpm Hmb 2 FRuirer snHm)

171. Match List I with List IT and select the correct answer using the codes given below the list.

(a)
- ®)
(©
(@

A
®
©
@

VTNI

Lisf I - Rivers | o List IT - Water Falls
Cauvery 1. Yenna

Sharavati 2. Sivasamudram
‘Mahabaleswar 3. Dhuandhar
Narmada 4. dog

@ (b @ @

—~ W & b
W b W
I N -
B e 00
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173.

- (A)

ulguwe I-sg ulgwe Il-oLem Qummsdl efwrer elanew CsrplsBiss <sHE@ WeT o arar
ML e auflanslilBsgl

UCiqwie I — oymsar ULt T — BiraSipss)
(a) smelif 1 W GHTGHTIT

(b) agrTEuS 2 SeuspsSrbd

(¢ wasTuGaeveurT 3.  srengim

(d) miosm 4 Cegras

@ ® © (@

2 4 1 3
(B) 4 3 2 1
(C) 3 2 4 1
(D) 1 3 2 4

172. Which one of the following is a “Pathu Pattu” Book?

(A) Pathirtru Pathu , (B) Paripadal

(C) . Patina Palai ‘ ' (D) Purananuru

SLPEU(HLD IS (EHET uggjuunl;@ B 67817

A uddpilusg ' B) uvflumié

©O) uvlgeliurena (D) ypsrerm

How many varieties of flowers are mentioned in “Kurinjipattu”?

A 96 _ ' ' B) 92

(©) 99 ' : (D) 90

G@NEHLILM g6 eTEsamen eUas e TEET GO UL HeTerean?

A) 96 (B) 92
© 99 - D) 90
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174. Colloids play an important role in our daily life. Identify the colloid in which liquid is
dispersed in solid '

(A) Curd (B) Indian i_nk
(C) Milk (D) Paint

FIPIOAISET eTaTLg! Bd emTL. eumpeileh lsed (WEEWLSHIGUD UTLBESE. SPSTEND  eTéa LGS

AawrogSlener SHreuld sravrliuGEDG

PN B @pHucr @

©) ume _ D) GQuuler

175. The largest tropical Savanna grass land are seen in

(A) Australia . B) Africa
(C) Asia ' ‘ (D) America
WlsLUTHS SHWeToarL e seuren Ledauaf] a;rrsmtnu@sugﬂ

Q) e HCredum B)  ufsaT

©C) <dur D) QwhssT

176. The chairman of the union public service commission is appointed by

A) .The_ President (B) The Prime Minister
(C) The Chief Minister (D) The Governor

wsHw Lerflwrert CareurenamusHen saaeul wMFTd HluidléssiuBEpmi?

Q) GRursEs gmeaut B) Ygsw ewEsT

(C)  @soewEst D)  oyemmET
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177. Match List I and List II correctly and select your answer using the codes given below :

List I

() Bauxite
(b) Galena
(¢) Pitch Blende
(d) Rutile
Codes :

@ ® © @@
(A) 3 4 2 1
®) 3 4 1 2
© 4 -3 1 2
D) 2 1 4 3

List 11
1.  Uranium
2. _Titanium
3.  Aluminium
4. ‘Lead

niguwied I-g L_ll;lq_u_ld) II-o e Qurpss G Qar@ssin’@erer GhluiGamens Qaream@h flwrear

cflenLenws GaTHES0H :
uliquied I
()  ursmsl
: (b) . sedam
(© 19 & Qe
@)  emeoLd
GINNMCEL I
@ @ @
@ 3 4 2 1
B) 3 4 1 2
©) 4 3 1 2
D) 2 1 4 3

g ey II
1. wCreflwbd
2. e’ CGLaflub

3. <2igdeiwib

4. Q@I'_
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178. Choose the correct ones :

The traditional Thanjavur Doll automatically rights itself even after it is pushed and tilted

around

(1) It has avery low center of gravity

(2) Ithas arounded base

(3) It has high center of gravity

(4) It has a flat base

(A) Both 1 and 2 are correct (B) Both 2 and 4 are correct
(C) Both 3 and 4 are correct _ (D) Both 1 and 2 are false
sflwren elenLepw CaipEEE -

HEHETQLT Senawin_ g GUTbe WL SaTefammeb sMUSSTEID 6T LWl Haaemu oL Sng|

ey
)
3
4

)
©)

@igen oS ewwibd sTphs Hevaudé o drerg)
SlgLITSLD D_(HeEGTen L WTEng)
<iger Leduiiiiy evowib o Wihs Hleauied 2 érarg

DISET Sl UITELD SL_6HL_WITETG)

(1) g (2) & g (B) (2) whpb (4) &

(3) > (4) of D) @ whpt (2) sep

179. Which one of the following statement is incorrect regarding nuclear fission?

@)

B)
(©)
D)

Jt is a chain-reaction
Performed under controlle_d conditions
It takes place at a very high temperature

Neutrons are emitted during the reaction

&Gy Qar@Rssiul L unsAwiisad T A@miGs® ety Lp seuprean Saeuama SHEDS?

(A)
- ®
©)
D)

VTNI

851 e sESa Gg,'.m_r'raﬁ]mm

@seven s QUL Popssant

Bz 188 sifswrer QeuliuBlenaould pLsfng

Gleucienar E@L@UQIL])@UIT@J Bl grenser QeuefledLiLGd&ng
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180.

181.

182.

Which Epic was written with the worship of nature in the beginning?

(A) Valaiyapathi (B) Seevaga Cinthamani
(C) Silappathikaram (D) Mani Megalai
Qunens aumrpsCsrh Cgm_id Gf@g;lj@ﬁrj)g) STUSWLD 618 ?

A)  eaewerwmudl _ B) SausdpsTweni

(©) Sedudsryd D) waflGuasmae

Where 1s ‘Prakui’ language spoken?

(A) Tarﬁﬂnadu : | o B) Balusisthanam
(C)  Rajmahal - (D) Bihar

Gymreaud eremp Gomf Cusiu@ b UGS eg?

A sllpsrp - | B) ugueﬂd\)g,rrgmm

© @Unt&omasrrsb o _ D) dsom

Assertion (A) : X-rays are not deflected by electric and magnetic fields.

Reason (R) : X-rays do not have charged pai*ticles.

(A) (A)1s correct (R) is wrong (B) (A) 1s'wrong (R) is correct
(C) (A) and (R) are wrong - (D) (A) and (R) are correct
gafily (A) 1 X-sfiser Bler wpmibd sTHst Hokserme edeossiiLiheaddome.

asrrUGtroTLB ®R) X-a;@r'réss'n e L 1b Hmeney.

A A) el (R) saum B) @) souny (R) &fl
© @) wppd ®) sap | D) @) wppd ®)sf
o0 VINI
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183.

Which one of the following is not considered as a method of calculating National Income?

(A) Product method | (B) Income method

(C) Budget method (D) Expenditure method

9 eimeupetaTeuDMIET 6Tl BB Qu(BLIESMSE SanasH sflurer weap Sde aamy CoTHOsHESb?
@) 2 puss wep (B)  cugioner gpeop

) eunay QEFGD@.] L apenp (LGl wenp) (D)  Qeeelien wenp

184. Match the following Indian towns with their Industrial product.
(a) Ahmedabad 1. Tea Processing
(b) Kolkata 2. Cotton Textile Industry.
(¢) Darjeeling 3. Glass Industry
(d) Firoza bad 4.  Jute Industry
() (b) (©) (d)
A) 4 3 2 1
®B) 3 4 1 2
(©) 2 1 3 4
) 2 4 1 3
Sipsaain @QbIHu parhsmer HeunCorh AgrLiyamLw AgriodsGem® Qunrsss :
(a) owwgTUTS ' 1.  GsWeoa LsiL(SSS
(b) QareassT ' 2. LIghETEmas Qgmidled
() Lmrdledim 3. 'GSGD%TGMTIT.Lq_(&, Qgmfe
(d) @Gjrrggrrurrg 4.  sawed Qgma
@ ®»  © @
(A) 4 3 2 1
B) 3 4 1 2
©) 2 1 3 4
). 2 4 1 3
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185. Match List I with List II correctly and select your answer using the codes given below :

186.

Ramalinga Vallalar

Vivekanandar

Swami Dhayananda Saraswathi

ulgwe - uigwe II 2 6 Qur@sd &G Q%n@éss;ﬂuL@dTm GIUGsmers Qaram@ sflwimer

(a) Service to Poor is service to God 1.  SriNarayana Guru

(b) Suddhi Movement 2.

(¢) dJeeva Karunya 3.

(d) Dharma Paribalana Yogam 4,
- (a) ) (©) (d)

A) 2 3 1 4

B 2 4 - 1 3

©) 3 4 2 1

D) 3 2 1 4

MevLemws Coibds® :

(a) wésear AgramGL WCssear Cgmei(h 1.

(b) &35 Quisad 2.

(© e ssn@sﬁmm 3.

(d) s uflureear Guirsd 4.

(@) (b) (©) (d)

A 2 3 1 4

B) 2 4 1 3

© 3 4 2 1

(D)) '3 2 1 4

Which one of the following is correctly matched?

Atmiya Sabha ~ Olcott

"~ Young Bengal Movement — Raja Ram Mohan Roy

Nirankari Movement — Henry Vivian Derozio
Ghader Party — Lala Har Dyal

1 @B 2
3 . »D) 4

Spsaaim_cundd erg) sflwins QUTBHHHEDS?

1.

<5100 FenL) — TR 1) /I
Glerd eurbsTer @uiSsLD — @preymyrid Corseymil
Flpaisnfl @uigsid — Qgr)@'rgﬁ] efeSwer QLCyrsm

ST L& — QreT QnTSWImer

1 ®B 2
3 D) 4
69

BB TmLEnT @&

@\rToedIkIS GueTaTeTT
cHlGaugmembET
seumdl SLNETHS FTeveus)
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187. Which is the correct statement?

1. Rainfall varies fro1ﬁ place to place and time to time. It is thus the season occur.

1I. Temperature varies from place to place and time to time. It is thus the season occur.

III. Climate varies from place to place and time to time. It is thus the season occur.

(&) Tonly (B) IIonly

(C) 1III only . (D) TandIlonly

sflwner edlent_anw GCarHSH :

L wenlp Leduled e wpaugihb ¢Cr nrdilurs @eaarned @LsdnE @L b, sTassne SraLd
Gmgu@mgg’)@ SMTERTLD LI(HE SrQRIGET Gamemmieus) <L @GLD. -

II.  Qeluflene Li@ﬁ]US]@i) gar® wppaugid Gy wrdflwrs Gdaornd QL@ QL b, sTasdheE

' sreb CalnuHeusnH @ STTamLb LIfheu SToREE CHTeTmeus) G,

. sreoflo Leduld ward wpagh @Gy wrdflurs @dammoed @ng]g‘)@ QL 1b, sregslna
sreld Caum Heugm @ sremid Limeu FTEORIGET Camenmieug) <,@ELW.

A T o : B) o o

€y IMwi@b D) T wpmb IT @G

188. Choose the correct answer :

Reason for 70% of coral reefs killed in Lakshadweep and Andaman islands.

Gy
©)

Global warming (B) Acid rain

Ozone layer depletion - (D) Smog

sflwren el mwg CorbAsHEsaD : -

._ Qe g Say wHMID SibSoNer Seysaidr T0% Leuerl LTaMDEET Lt HTTERTLD

@

- (©)

VTNI

Q_Q)as@ml'_lumUJLorrg,é) _ | B) <o e

@Canen (&G Frifle] | 7 | D) pslyms
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189. Match List I with List II correctly and select your answer using the codes given below :

List I List IT
(a) Amoeba 1. | spores
(b) Paramaecium _ 2. flagellum
(¢) Euglena 3. pseudopodia
(d) Plasmodium 4, cilia

() (b) © @

@A 3 4 2 1

(B) 4 3 1 2
(©) 1 9 3 . 4
D) 4 2 1 3

uligwe I-e ulj_lq_u_leﬁ II-2._er Quumpss &Cp Qar@ssiu_@erer GMuiGsamends Gasrfeo'vr@ sflwme

AerL_emwis CoinOsE0 -
| U iguied I : L igwied IT
(a) @u.Bu'rr 1. evGunTSerT
(b) urnSAwib : 2.  smslenyp
(c) wpseflem 3. Gurels smevser
C(d)  QermevGromguwith ' 4. Hewim

(@ (b) (© (d).

@& 3 4 2 1

(B) 4 3 1 2
©) 1 2 3 4
D) 4 2 1 3
- ' 71 VTNI
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190.

191.

A hemisphere and cone have equal bases and equal height. Then their volumes be in the ratio
A 2:1 B 1:2
C€) 3:2 ' D 2:3

@ 2orsGararapd, sbubd @Cr ougliussepb, @Cr ewrepd Qupdl@llen oeupbler sen
SjaTasaten el&lsid

A 2:1 B) 1:2
@€ 3:2 _ D) 2:3

-Match List I and List IT and select the correct answer using the code given below the lists :

List I _ List IT
(a) Horn silver 1. MgCOsCaCOs
(b) Argentite 2.7 AgCl
(¢) Bauxite 3. Ag:S
(d) Dolomite 4. Al0Os.2H.0
Codes :
(a) (b) (c) (d)
(A) 2 4 1. 3
B 2 3 4 1
©) 3 2 4 1
D) 3 1 2 4

auflens L opmid eufiens II pfuiaupenp, GardssiuiL ghluiGsmar LwaBss sflures QuTBSEs |

aufleng I _ " ' auflens 11
(@) enmrer fAeeur 1. MgCO0s.CaCOs
(b) iTQsenant L. 2. AgCl
(© urdemsl 3. AgsS
(d) GLmreenwi 4.  Al203.2H:0
GOUBEar :
() (b) (0 (d)
@A) 2 4 1 3
B) 2 3 4 1
(©) 3 2 4 1
- (D) 3 1 2 4
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192. Who has written the Drama ‘“Thanneer Thanneer’?

(A)
(B)

(®)

D)

<

(A)

(©

Komal Swaminathan
Bala Chandar

Anna Dural

Pammal Sambantha Mudhaliyar

Camoe griprset

S| GHTEIT T DT

gt Geranti erenm BHrL-& HAeSlen < M wirr?

B) uresshST

(D) ubwe sbLIBS (W eSlwimT

193. Match List I with List II correctly and select your answer usiﬁg the codes given below:

- List1

(a)
()
©

@

@
®)

©)

D)

Veerama munivar
Kalduvel
G.U. Pope

Seegan Palku Iyer

(a) (b) (© (d)

2 3 4 1
1 3 4 2
3 4 1 2
2 4 3 1

List IT |
1.  Achupani
2. Sathuragarathi
3.  Oppilakkanam

4. Translation of Tirukkural

73 - o VTNI
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uliguwer I-gg ulgwe -2 6 Qur@ss, ECp QarhissuulHder @huiGsmers Qarar® sfuime

oo CoipQs6:
Llguel U g T
(a) &lporapafieun _ , 1. eidstiueni
(b) s | 2. sgpsyid
(© .y Gumd 3.  gulesseamrd
@) Esen urde mui | 4 Bosepd QumdOuuity

(a) (b) (c) (d)

A) 2 '3 4 1
B) | 1 3 4 2
(C) 3 4 1 2
(D) 2 4 3 1

194. Where in Tamﬂhadu, a bench of the Madras High Court is situated?
(A) Chennai . B B) Coimbatore
(C) * Trichy - | (D) Madurai
gyLﬂ@(@WLLq_Gi), Qeenenan o withdl ennsHen Hever erii@ ieowiGuhmETers)?
(A) Qseeenen (B) Csmwbyggnt

© Bosd D) gy
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195.

196.

197.

Which one of the following is not permanent member of security council?

A) USA. B) India
(C) France _ (D) UK
&G Qa;rr@a;a;uul_@mmmmasaﬂa) eTg &Hw priser samuudled Blpnay 2 mitiy pr® side?
(A) oQufésr v (B) @pHwunr
(C) Qgresev D) Qrbeorpg

Who was the Pi_oneer of Ballad in Tamil?

(A) Ottakuthar - (B) Irattai Pulavar

(C) Kalamega Pulavar (D) Pugazenthi Pulavar
slipEsams s LrLadlesr (perCaniq uinss as@g,g,é;&;mﬁ wir?

A) @lismssi _ B) @riedyesur

©) srearCGuslyeeuT _ (D)  ysCuBA yeeurt

Match the following in correct answer :

(a) 07 - 1. Periya Puranam

b) 10 2. Kalampagam

(c) 18 3. Ula

(d 63 4. Pillai Tamil -
(@) (b) () d

A) 3 4 2 1

(B) 12 3 4

©) 4 1 2 3

(D) 2 3 4 1

L igwie T-g Lt iquico TT-o e Qurmpsd), EGp Gasrr@a;a;uul_@mm GHlGemens Qaram® sfwmen
e _aows CoTHASE :

L_J|'_|q_u_16'\>‘ I uCiguwied IT
(a) 07 1. Guflwygresmbd
®) 10 2.  sebusbd
(c) 18 3. oaer
d 63 4. Qerenarssip

(a) ®  (© (d)
) 3 4 2 1
3] 1 2 3 4
©) 4 1 2 3
(D) 2 . 3 4 1

75 o VTNI
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198. Match the orgaﬁs of UNO with their relative fields :

(a)
(b)
(©)

(d)

(A)
(B)
(©)

D)

UNIFEM
IAEA
UNFPA

FAO

(a)

(b)

©

(d)

Food and agriculture
Development of women
Atomic energy

Population

&.511. sewLlen EpdaaL HlneamisGerm( Slupner GgriemLw Qewdur@smer Qummsgs :

(a)

(b).

(c)

(d)

A)
®
©)

D)

VTNI

UNIFEM
IAEA
"UNFPA

FAO

(a)

(b)

©

(D)

76
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199. Which one of the following is correctly matched?

200.

A)
B)
©
)

International Atomic Energy Agency : Geneva
International Labour Oi’ganisatipn : Madrid, Spain
United Nations University : Japan

World Tourism Organisation : Vienna

Epsearcunble ergy aflwns QuUmmbgISng ?

)
®B)
©)
D)

sreuGse iamissd Sl Qeafeur
2 V& @gn@@mﬂr’r el : Golenyl, evGluuden
@& BrHsemen LISmeaSSHpSD 1 mIiume

2 & &HOIOT el : eflwieerT

Energy is stored as which molecule in mitochondria so that it is known as ‘Energy Currency’ of
the cell '

L Glucose

II.  Proteins

III. ATP

IV. ADP.

&) TandTI - (B) OnlyIII

(C) Only 1V D) IandIV
<pHDE, GeTeUmD eTHE padsam aligeld el GLrsramumedd CoallssuuBfng. Gg Cedaer
DO BrewTwid eTaruBiE ng.

I GewpsCarev

IL yyaw

III. ATP

IV. ADP .

A) Topmo Il &f : B) lw @b
©) INol@wosfd D) I wpgid IV &

77 | ‘ VTNI
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GENERAL TAMIL WITH GENERAL KNOWLEDGE

Time Allowed : 3 Hours] [Maximum Marks : 300

Read the following instructions carefully before you begin to answer the questions.

10.
11.

12.
13.

IMPORTANT INSTRUCTIONS

This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to op'en
it at the commencement of the examination. As soon as the signal is received you should tear the right
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions.

This Question Booklet contains 200 questions. Prior to attempting to answer ensure that this booklet
contains all questions and that there are no repetitions/blank pages in between in the booklet.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You must
write your Name, Register No., Question Booklet Sl. No. and other particulars with Blue or Black Ball

. point pen on side 2 of the Answer Sheet provided, failing which your Answer Sheet will not be

evaluated.

You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case, you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet. '

In the Answer Sheet there are four brackets [A] [B] [C] and [D] against each questibn. To answer the
questions you are to mark with Ball point pen ONLY ONE bracket of your choice for each question.
Select one response for each question in the Question Booklet and mark in the Answer Sheet. If you

mark more than one answer for one question, the answer will be treated as wrong. e.g. If for any item,
[B] is the correct answer, you have to mark as follows :

(] Bl (C] (D] .
You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
Aftér the examination is concluded, you must hand over vour Answer Sheet to the Invigilator. You are
allowed to take the Question Booklet with you only after the Examination is over.

The sheet before the last page of the Question Booklet can be used for Rough Work.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.

For Question No. 101 to 200 in all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question booklet.




